
L2 Algebra Revision #5 

 

1. Simplify:  
ଵ

௫ ା ௬
 + 

 ଶ 
௬

 

 

2. Expand and simplify:  (3x – 1)(5x + 3)(x – 8)  

 

3. Factorise fully:  10x2 + 9x – 9 

 

4. Simplify fully:  
ଷ ା భೣ
ሺସ௫ሻషభ

  

 

5. Simplify fully:  
௫మା ଻௫ ା ଵଶ
௫మ ା ସ௫

   

 

6. If log b ( k ) = 2 and log b ( j ) = 5 what is log b( 
݆2
݇  )  

 

7. Solve 4x = 19 

 

8. Solve:  
௫మା ସ௫ ା ଵ

௫ ା ଷ
 = 5  

  



Answers: L2 Algebra Revision #5 

 

1. Simplify:  
ଵ

௫ ା ௬
 + 

 ଶ 
௬

  =  
௬ 

ሺ௫ ା ௬ሻ௬
 + 

ଶሺ௫ ା ௬ሻ
ሺ௫ ା ௬ሻ௬

 =  
௬ ା ଶሺ௫ ା ௬ሻ
ሺ௫ ା ௬ሻ௬

    

   =  
૛࢞ ା ૜࢟
࢟ሺ࢞ ା ࢟ሻ

   or   
ଶ௫ ା ଷ௬
 ௬మା ௫௬

    

 

2. Expand and simplify:  (3x – 1)(5x + 3)(x – 8) 15x3 – 116x2 – 35x + 24 

 

3. Factorise fully:  10x2 + 9x – 9 = 10(x – 1.5)(x – 0.6) 

  = 2(x – 1.5) 5(x – 0.6) = (2x + 3)(5x – 3) 

 

4. Simplify:  
ଷ ା భೣ
ሺସ௫ሻషభ

ݔݔ3 )   =    ݔ12  = (4x) ( ݔ1  + 
2

ݔ ݔݔ4  +       = 12x + 4 

 

5. Simplify:  
௫మା ଻௫ ା ଵଶ
௫మ ା ସ௫

     =  
ሺ௫ ା ଷሻሺ௫ ା ସሻ
௫ ሺ௫ ା ସሻ

 =  
ሺ௫ ା ଷሻሺ௫ ା ସሻ
௫ ሺ௫ ା ସሻ

 =  
 ࢞ ା ૜ 
࢞

 

 

6. If log b ( k ) = 2 and log b ( j ) = 5 what is log b( 
݆2
݇  )  

 log b( 
݆2
݇  )  = 2 log b ( j ) – log b ( k )  = 2 × 5 – 2 = 8 

 

7. Solve 4x = 19  log(4x) = log(19) x log(4) = log(19) 

  x = log(19) ÷ log(4)   x = 2.124 

 

8. Solve:  
௫మା ସ௫ ା ଵ

௫ ା ଷ
 = 5  x2 + 4x + 1 = 5(x + 3) 

  x2 + 4x + 1 = 5x + 15 x2 – x – 14 – 0 

   x = 4.275 and –3.275 

 

(4 and 8 are Merit) 


